Paper 1: Medicine in Britain and The British Sector of the Western Front

Describe two
features of...

Identify a valid
feature e.g. Support
trenches were safer
than the front line.

Support with
description e.g.
Support trenches
were rarely targeted
by enemy snipers

v' Source A is useful because...
(provenance). This is useful
because...

v' Source Ais also useful
because it tells us...
(content). | know from my
own knowledge that...

v" However the source does
not tell me... | know that...

v' Overall, the source is/is not
useful because...

Repeat for second source!

Detail in source: use a quote or pick
out a specific detail if it is a picture

Question: Must link to the source and
to the enquiry focus

Type of source: Must be specific e.g.
RAMC medical records about...

How this would help: Link to question.
Remember you cannot get a mark for

your question if you don’t pick a
specific detail from the source!

v' One way in which

views in....... were
different to..... (other
time period) was...

They were different
because...

v
v

v

One reason why...
This happened
because...

This was due to...

Remember you must
include 3 clear points. No
conclusion needed.

You will get a choice of
two judgement questions.

Choose the one you know
most about. You will need
at least 3 paragraphs.

Remember to use PEEL
paragraphs and
consistently refer to the
question!

Flip the question e.g. In some
ways the main reason Penicillin
was mass produced was because
of the Second World War.
Introduce other factors e.g.
However, it can be argued that
there were other reasons such
as...

Initial judgement e.g. | believe
that...

Opening sentence: /n some ways it can be
argued that...

Supporting points/Evidence: One example of
this is... This shows that... A second example of...
This led to... A third example is... This suggests...

Mini-Conclusion: Overall it can be argued that...
This was/was not the most important reason
for... This is because...

You need at least 3 paragraphs!

Link back to question
e.g. In many ways, it
can be argued that...
One important example
of this is...

Show balance e.g.
However, it can be
argued that...

Overall judgement e.g.
Overall, I believe that...
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As a result of...
Due to the fact
that...

A consequence of
this was...

On the other
hand...

In contrast to this...
In addition to this...
In summary...
To conclude...




v One consequence of...
was...

v’ This happened
because... As a result of
this...

v" Repeat!

Remember to talk about what
happened as a result of the

Paper 2: Cold War and_

Your answer needs a clear
beginning, middle and end.
Pick three events and link them
with connecting phrases.

v' ‘as aresult of, ‘this led
to’, ‘because of this’

A (first part of q)
played an important
role in..... (second part
of q)

v One example of this
was...

v' Overall...

You need to choose two of
the three questions to

Identify a valid feature e.g.
The Witan gave advice to the
monarch.

Support with description e.g.
This helped the monarch deal
with rebellions and those who
were going against the king.

v One reason for...
Was...

v Evidence to support
point

v’ This meant that...
This happened
because...

You need three separate
paragraphs and you do not
need a conclusion.

event in question. answer.

You will get a choice of two | Flip the question e.g. In some ways | Opening sentence: /n some ways it can be argued | Link back to question v' Asaresult of...
judgement questions. the main reason why William kept | that... e.g. In many ways, it v" Due to the fact

control was due to building castles. can be argued that... that...
Choose the one you know Introduce other factors e.g. Supporting points/Evidence: One example of this One important example v' A consequence of
most about. You will need However, it can be argued that is... This shows that... A second example of... This of this is... this was...
at least 3 paragraphs. there were other reasons such as... | led to... A third example is... This suggests... Show balance e.g. v' On the other

Initial judgement e.g. | believe However, it can be hand...
Remember to use PEEL that... Mini-Conclusion: Overall it can be argued that... argued that... v In contrast to this...
paragraphs and consistently This was/was not the most important reason for... Overall judgement e.g. v'In addition to this...
refer to the question! This is because... Overall, | believe that... v'Insummary...

v To conclude...
You need at least 3 paragraphs!




Pick one thing that the source
tells you about the topic in the
question.

Support with detail from the
source (quote, description of
the picture etc)

Repeat! No own knowledge
needed.

Explain why...

v One reason for...
was...

v Evidence to support
point

v’ This meant that...
This happened
because...

You need three separate
paragraphs and you do not
need a conclusion.

Paper 3: Weimar and Nazi Germany

Source A is useful because...

(provenance). This is useful because...
Source A is also useful because it tells

us... (content). | know from my own
knowledge that...

However the source does not tell
me... | know that...

Overall, the source is/is not useful
because...

Repeat for second source!

‘Interpretation 1
suggests that...”
‘In the
interpretation it
says...”

‘On the other
hand,
Interpretation 2
suggests that...”
‘In the
interpretation it
says...”

Interpretations give weight to
different sources. Work out which
source supports which
interpretation.
v' The Interpretations are
different because...
v “Interpretation 2 focuses
on...(main view)’
v' ‘This is supported by
Source... which shows...”

Repeat this step for the other
interpretation!

You must include information from both v
interpretations. Try using quotes to make it
clear where you have used the interpretations.

Your own knowledge will only be credited if it is 4
directly linked to the interpretations.

Remember to use an essay structure with PEEL
paragraphs.

‘Interpretation 2 suggests
that... | agree as from my
own knowledge...”

‘However | disagree as it
does not consider... From
my own knowledge...”

v

‘Interpretation 1
also disagrees as
it suggests...

I agree/partially
agree with
Interpretation 1

7’

as...

v’ ‘Overall, |
agree/disagree
with
Interpretation 2.
This is
because...”

As a result of...

Due to the fact that...
A consequence of this
was...

On the other hand...
In contrast to this...

In addition to this...

In summary...

To conclude...
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